
TOTALINER SLIDING CARGO TRAY FOR FULL-SIZE PICKUPs (FORD F150 5.5'&6.5' Bed 15+/ 
DODGE RAM 1500 5.5'Bed 09+/CHEVY SILVERADO 1500 5.9' Bed 15+/TOYOTA TUNDRA 5.5' Bed 14+) 

Page 1 of 9 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

INSTALLATION INSTRUCTIONS 
TOTALINER SLIDING CARGO TRAY FOR FULL-SIZE PICKUPS 

(FORD F150 5.5'&6.5' Bed 15+/DODGE RAM 1500 5.5'Bed 09+/CHEVY 

SILVERADO 1500 5.9' Bed 15+/TOYOTA TUNDRA 5.5' Bed 14+) 

PART # BSCP01B 

  



TOTALINER SLIDING CARGO TRAY FOR FULL-SIZE PICKUPs (FORD F150 5.5'&6.5' Bed 15+/ 
DODGE RAM 1500 5.5'Bed 09+/CHEVY SILVERADO 1500 5.9' Bed 15+/TOYOTA TUNDRA 5.5' Bed 14+) 

Page 2 of 9 

 

 Please read the instruction completely for easy installation, which will also help you to avoid 

scratches or other potential damages to your appealing car.  

 The figures here are for reference only and may have differences with the actual product you 

received, however they share the same assembly way. 
 

 

 Mild soap may be used also to clean the Product.  

 Please periodically check and retighten all the hardware and clean the investment for a refresh 

look.  
 
 

NO. QTY NAME NO. QTY NAME 

○1  1 

 
Base Of Slide Tray 

○2  1 

 
Side Plate (L)  

○3  1 

 

Side Plate (R) 

○4  1 

 

Rear Plate 

○5  1 

 
Front Base Plate  

○6  1 

 

Rear Base Plate 

⑦ 1 
 

Red Decoration Plate 

⑧ 6 

 

Type D Buckle 

Parts list 

Care and Cleaning 

Before Installation 



TOTALINER SLIDING CARGO TRAY FOR FULL-SIZE PICKUPs (FORD F150 5.5'&6.5' Bed 15+/ 
DODGE RAM 1500 5.5'Bed 09+/CHEVY SILVERADO 1500 5.9' Bed 15+/TOYOTA TUNDRA 5.5' Bed 14+) 

Page 3 of 9 

⑨ 6 

 
Bracket For Type Buckle 

⑩ 3  
Tape 

Hardware List: 

⑪ 16 Hex Flat Head Bolt M6_20 ⑫ 12 Lock Washer D6 

⑬ 24 Large Flat Washer D6 (6*18*1.6mm) ⑭ 12 
Hex Socket Button Head Bolt 

M6_16 

⑮ 12 Cap Nut M6 ⑯ 13 Hex Flange Nut M6 

⑰ 13 Assembly Bolt M6_20 ⑱ 1 Allen Wrench S=4 

⑲ 4 Hex Bolt (Full Thread) M10_65 ⑳ 8 
Extra Large Washer D12 

(12*44*4mm) 

㉑ 4 Lock Washer D10 ㉒ 4 Hex Nut M10 

㉓ 4 Plastic Washer φ16×12    

 
  



TOTALINER SLIDING CARGO TRAY FOR FULL-SIZE PICKUPs (FORD F150 5.5'&6.5' Bed 15+/ 
DODGE RAM 1500 5.5'Bed 09+/CHEVY SILVERADO 1500 5.9' Bed 15+/TOYOTA TUNDRA 5.5' Bed 14+) 

Page 4 of 9 

 

Installation Figures: 
Step 1: Install the red decoration plate in sequence as below figure shown. If rear plate has no logo, 

do not need to install the red decoration. Use hardware ⑫⑬⑭⑮ to install ④Rear Plate 
with ⑦Red Decoration Plate. 

 

Step 2: Stick ⑩Tapes on ①Base Of Slide Tray. 

 

Step3: Use ⑪Hex Flat Head Bolts M6_20 to install ①Base Of Slide Tray with Base Plates⑤⑥ in 

Installation Steps 



TOTALINER SLIDING CARGO TRAY FOR FULL-SIZE PICKUPs (FORD F150 5.5'&6.5' Bed 15+/ 
DODGE RAM 1500 5.5'Bed 09+/CHEVY SILVERADO 1500 5.9' Bed 15+/TOYOTA TUNDRA 5.5' Bed 14+) 

Page 5 of 9 

sequence as below figure shown. 

 
Step4: Use below hardware to install Side Plates②③ and ④Rear Plate. 

 



TOTALINER SLIDING CARGO TRAY FOR FULL-SIZE PICKUPs (FORD F150 5.5'&6.5' Bed 15+/ 
DODGE RAM 1500 5.5'Bed 09+/CHEVY SILVERADO 1500 5.9' Bed 15+/TOYOTA TUNDRA 5.5' Bed 14+) 

Page 6 of 9 

 

   



TOTALINER SLIDING CARGO TRAY FOR FULL-SIZE PICKUPs (FORD F150 5.5'&6.5' Bed 15+/ 
DODGE RAM 1500 5.5'Bed 09+/CHEVY SILVERADO 1500 5.9' Bed 15+/TOYOTA TUNDRA 5.5' Bed 14+) 

Page 7 of 9 

Step5: Put the base and plate of slide tray on the truck bed, adjust it to appropriate position. 

 

 
Step 6: After the position is adjusted, remove the plate of slide tray from the base in sequence as 

below figures shown. 

 

Press the button and 
pull the plate closer 

to the tail. 



TOTALINER SLIDING CARGO TRAY FOR FULL-SIZE PICKUPs (FORD F150 5.5'&6.5' Bed 15+/ 
DODGE RAM 1500 5.5'Bed 09+/CHEVY SILVERADO 1500 5.9' Bed 15+/TOYOTA TUNDRA 5.5' Bed 14+) 

Page 8 of 9 

 

 

 

Press the button and lift 
the plate from the hole 
of the base about 5° 

Press the button and continue to pull the 
plate out, and you can take the whole 
plate out as soon as it gets to the tail. 

Raise 5° 



TOTALINER SLIDING CARGO TRAY FOR FULL-SIZE PICKUPs (FORD F150 5.5'&6.5' Bed 15+/ 
DODGE RAM 1500 5.5'Bed 09+/CHEVY SILVERADO 1500 5.9' Bed 15+/TOYOTA TUNDRA 5.5' Bed 14+) 

Page 9 of 9 

Step 7: Mark the holes position on the base and then drill 4 holes (ø12mm) on the aluminum base 
as the figure shown below. Holes on each side should be kept in same distance. Then drill the 
same holes position on the truck bed. 

  
Step 8: Install the ①base of slide tray on the truck bed with hardware⑲⑳㉑㉒㉓. 

 
Step 9: Reinstall the plate on the base.  

Step 10: Test and make sure that the slide tray is steadily fixed, fully tighten all hardware.  

Step 11: Installation is finished, pick up all tools. 

 
 
Any damages and losses caused by improper installation and application, goes beyond our quality 
warranty. 

NOTE 

19/20/21/22/23 


